

ON THE DIVISIBILITY OF SOME TRUNCATED HYPERGEOMETRIC SERIES

GUO-SHUAI MAO AND HAO PAN

ABSTRACT. Let p be an odd prime and $r \geq 1$. Suppose that α is a p -adic integer with $\alpha \equiv 2a \pmod{p}$ for some $1 \leq a < (p+r)/(2r+1)$. We confirm a conjecture of Sun and prove that

$${}_{2r+1}F_{2r} \left[\begin{matrix} \alpha & \alpha & \cdots & \alpha \\ 1 & \cdots & 1 \end{matrix} \middle| 1 \right]_{p-1} \equiv 0 \pmod{p^2},$$

where the truncated hypergeometric series

$${}_{q+1}F_q \left[\begin{matrix} x_0 & x_1 & \cdots & x_q \\ y_1 & \cdots & y_q \end{matrix} \middle| z \right]_n := \sum_{k=0}^n \frac{(x_0)_k (x_1)_k \cdots (x_q)_k}{(y_1)_k \cdots (y_q)_k} \cdot \frac{z^k}{k!}.$$

1. INTRODUCTION

For an odd prime p , let \mathbb{Z}_p denote the ring of all p -adic integers. In [14, Theorem 1.3 (i)], Sun proved that if $x \in \mathbb{Z}_p$ and $x \equiv -2a \pmod{p}$ for some $1 \leq a \leq (p-1)/3$, then

$$\sum_{k=0}^{p-1} (-1)^k \binom{x}{k}^3 \equiv 0 \pmod{p^3}. \quad (1.1)$$

Motivated by (1.1), Sun conjectured [14, Conjecture 4.4] that for any integer $r \geq 2$ and odd prime p , if $x \in \mathbb{Z}_p$ and $x \equiv -2a \pmod{p}$ for some $1 \leq a \leq (p+1)/(2r+1)$, then

$$\sum_{k=0}^{p-1} (-1)^k \binom{x}{k}^{2r+1} \equiv 0 \pmod{p^2}. \quad (1.2)$$

Define the truncated hypergeometric series

$${}_{r+1}F_r \left[\begin{matrix} x_0 & x_1 & \cdots & x_r \\ y_1 & \cdots & y_r \end{matrix} \middle| z \right]_n = \sum_{k=0}^n \frac{(x_0)_k (x_1)_k \cdots (x_r)_k}{(y_1)_k \cdots (y_r)_k} \cdot \frac{z^k}{k!},$$

Key words and phrases. central binomial coefficients, congruences.

2010 *Mathematics Subject Classification.* Primary 11B65; Secondary 05A10, 11A07.

The first author is supported by the Natural Science Foundation of China (grant 11571162).

where

$$(x)_k = \begin{cases} x(x+1) \cdots (x+k-1), & \text{if } k \geq 1, \\ 1, & \text{if } k = 0. \end{cases}$$

In fact, the truncated hypergeometric series is just the sum of the first finite terms of the original hypergeometric series. In the recent years, the arithmetic properties of the truncated hypergeometric series have been widely investigated (cf. [1, 2, 3, 5, 6, 8, 9, 10, 11, 12, 15, 16]). Note that

$$\binom{x}{k} = (-1)^k \cdot \frac{(-x)_k}{(1)_k}.$$

Clearly the left side of (1.2) coincides with

$${}_{2r+1}F_{2r} \left[\begin{matrix} -x & -x & \cdots & -x \\ & 1 & \cdots & 1 \end{matrix} \middle| 1 \right]_{p-1}.$$

In this short note, we shall give an affirmative answer to Sun's conjecture.

Theorem 1.1. *Let p be an odd prime and $r \geq 1$. Suppose that $\alpha \in \mathbb{Z}_p$ and $\alpha \equiv 2a \pmod{p}$ for some $1 \leq a < (p+r)/(2r+1)$. Then*

$${}_{2r+1}F_{2r} \left[\begin{matrix} \alpha & \alpha & \cdots & \alpha \\ & 1 & \cdots & 1 \end{matrix} \middle| 1 \right]_{p-1} \equiv 0 \pmod{p^2}. \quad (1.3)$$

Notice that the permitted range of α in Theorem 1.1 is a little larger than the one conjectured by Sun.

Furthermore, we mention that Theorem 1.1 (or just (1.1)) also implies another conjecture of Sun. In [13, Remark 1.2], Sun conjectured that for any prime p with $p \equiv 1 \pmod{4}$,

$$\sum_{k=0}^{\frac{1}{2}(p-1)} \frac{C_k^3}{64^k} \equiv 8 \pmod{p^2}, \quad (1.4)$$

where

$$C_k := \frac{1}{k+1} \binom{2k}{k}$$

is the k -th Catalan number. It is easy to check that

$$\frac{C_k}{4^k} = \frac{1}{k+1} \cdot \frac{(\frac{1}{2})_k}{(1)_k} = -2 \cdot \frac{(-\frac{1}{2})_{k+1}}{(1)_{k+1}}.$$

We also have $C_k \equiv 0 \pmod{p}$ for each $(p+1)/2 \leq k \leq p-2$. So (1.4) is actually equivalent to

$$\sum_{k=0}^{p-1} \frac{(-\frac{1}{2})_k^3}{(1)_k^3} \equiv 0 \pmod{p^2}. \quad (1.5)$$

When $p \equiv 1 \pmod{4}$,

$$-\frac{1}{2} \equiv \frac{p-1}{2} = 2 \cdot \frac{p-1}{4} \pmod{p}.$$

Thus since $(p-1)/4 < (p+1)/3$, (1.5) immediately follows from Theorem 1.1 by setting $\alpha = -1/2$ and $r = 1$.

Our proof of Theorem 1.1, which will be given in the subsequent section, follows a similar way in [7]. We shall construct a polynomial $\psi(x) \in \mathbb{Z}_p[x]$ with $\psi(p) = 0$ such that

$${}_{2r+1}F_{2r} \left[\begin{matrix} \alpha & \alpha & \dots & \alpha \\ 1 & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1} = \psi(sp)$$

for some $s \in \mathbb{Z}_p$. Then the proof of (1.3) can be easily reduced to show that $\psi'(0)$ is divisible by p .

2. PROOF OF THEOREM 1.1

First, let us introduce several auxiliary lemmas.

Lemma 2.1. *Let m_1, \dots, m_r be non-negative integers and a be a positive integer. If $a > m_1 + \dots + m_r$, then*

$${}_{r+1}F_r \left[\begin{matrix} -a & 1+m_1 & \dots & 1+m_r \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right] = 0. \quad (2.1)$$

Proof. This is a consequence of the Karlsson-Minton formula [4, (12)]. \square

Lemma 2.2. *Suppose that m is a positive odd integer and $r \geq 0$ is even. Then*

$${}_{r+1}F_r \left[\begin{matrix} -m & -m & \dots & -m \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right] = 0. \quad (2.2)$$

Proof. We have

$${}_{r+1}F_r \left[\begin{matrix} -m & -m & \dots & -m \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right] = \sum_{k=0}^m \frac{(-m)_k^{r+1}}{(1)_k^{r+1}} = \sum_{k=0}^m (-1)^k \binom{m}{k}^{r+1}.$$

Then (2.2) follows from the fact

$$\sum_{k=0}^m (-1)^k \binom{m}{k}^{r+1} = \sum_{k=0}^m (-1)^{m-k} \binom{m}{m-k}^{r+1} = - \sum_{k=0}^m (-1)^k \binom{m}{k}^{r+1}.$$

\square

Define the n -th harmonic number

$$H_n := \sum_{k=1}^n \frac{1}{k}.$$

In particular, we set $H_0 = 0$.

Lemma 2.3. *Suppose that p is an odd prime and $0 \leq a < p/2$ is an integer. Then for any $r \geq 0$,*

$$\sum_{k=0}^{p-2a} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_k \equiv - \sum_{k=0}^{p-2a} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_{2a+k-1} \pmod{p}. \quad (2.3)$$

Proof. Clearly

$$\begin{aligned} \sum_{k=0}^{p-2a} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_k &\equiv \sum_{k=0}^{p-2a} \frac{(2a-p)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_k = \sum_{k=0}^{p-2a} (-1)^k H_k \binom{p-2a}{k}^{2r+1} \\ &= \sum_{k=0}^{p-2a} (-1)^{p-2a-k} H_{p-2a-k} \binom{p-2a}{p-2a-k}^{2r+1} \\ &\equiv - \sum_{k=0}^{p-2a} (-1)^k H_{2a+k-1} \binom{p-2a}{k}^{2r+1} \pmod{p}, \end{aligned}$$

where in the last step we use the well-known fact

$$H_k \equiv H_{p-1-k} \pmod{p}$$

for any $0 \leq k \leq p-1$. □

Now we are ready to prove Theorem 1.1. Let

$$\psi(x) = {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-x & 2a-x & \dots & 2a-x \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1}.$$

Then by Lemma 2.2,

$$\psi(p) = {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-p & 2a-p & \dots & 2a-p \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right] = 0.$$

Furthermore, for any integers $s_0, s_1, \dots, s_r, t_1, \dots, t_r$, evidently we have

$$\begin{aligned} &{}_{2r+1}F_{2r} \left[\begin{matrix} 2a-s_0p & 2a-s_1p & \dots & 2a-s_rp \\ & 1+t_1p & \dots & 1+t_rp \end{matrix} \middle| 1 \right]_{p-1} \\ &\equiv {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-p & 2a-p & \dots & 2a-p \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1} = 0 \pmod{p}. \quad (2.4) \end{aligned}$$

Let $s = (2a - \alpha)/p$. By the Taylor expansion of $\psi(x)$, we have

$$\begin{aligned} {}_{2r+1}F_{2r} \left[\begin{matrix} \alpha & \alpha & \cdots & \alpha \\ 1 & 1 & \cdots & 1 \end{matrix} \middle| 1 \right]_{p-1} &= \psi(sp) \equiv \psi(p) + (s-1)p \cdot \psi'(p) \\ &\equiv (s-1)p \cdot \psi'(0) \pmod{p^2}. \end{aligned}$$

It suffices to show that $\psi'(0)$ is divisible by p . Let

$$\phi(x) = {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-x & 2a & \cdots & 2a \\ 1 & 1 & \cdots & 1 \end{matrix} \middle| 1 \right]_{p-1}.$$

Then

$$\psi'(x) = (2r+1)\phi'(x). \quad (2.5)$$

If $2r+1 \equiv 0 \pmod{p}$, clearly $\psi'(0) \equiv 0 \pmod{p}$. So we may assume that $2r+1$ is not divisible by p . Below we only need to prove that

$$\phi'(0) \equiv 0 \pmod{p}. \quad (2.6)$$

Our strategy is to compute $\phi'(0)$ modulo p in two different ways. One way is simple. Clearly

$$\left. \frac{d((m-x)_k)}{dx} \right|_{x=0} = -(m)_k \sum_{i=0}^{k-1} \frac{1}{m+i} = (m)_k (H_{m-1} - H_{m+k-1}) \quad (2.7)$$

for any positive integer m . So we get

$$\begin{aligned} \phi'(0) &= \sum_{k=0}^{p-1} \frac{(2a)_k^{2r}}{(1)_k^{2r+1}} \cdot \left. \frac{d((2a-x)_k)}{dx} \right|_{x=0} \\ &= \sum_{k=0}^{p-1} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot (H_{2a-1} - H_{2a+k-1}) \\ &\equiv - \sum_{k=0}^{p-2a} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_{2a+k-1} \pmod{p}, \end{aligned} \quad (2.8)$$

by noting that p divides $(2a)_k$ for $2a+1 \leq k \leq p-1$.

However, the other way is a little complicated. According to Lemma 2.1, we have

$$\begin{aligned}
\phi(2p) &= {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-2p & 2a & \dots & 2a \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1} \\
&= {}_{2r+1}F_{2r} \left[\begin{matrix} 2a-2p & 2a & \dots & 2a \\ & 1 & \dots & 1 \end{matrix} \middle| 1 \right] - \sum_{k=0}^{p-2a} \frac{(2a-2p)_{p+k} (2a)_{p+k}^{2r}}{(1)_{p+k}^{2r+1}} \\
&= - \sum_{k=0}^{p-2a} \frac{(2a-2p)_{p+k} (2a)_{p+k}^{2r}}{(1)_{p+k}^{2r+1}}, \tag{2.9}
\end{aligned}$$

since $2p-2a > 2r(2a-1)$ now. It is easy to check that

$$\frac{(2a-2p)_p (2a)_p^{2r}}{(1)_p^{2r+1}} \equiv -1 \pmod{p}.$$

Then we get

$$\begin{aligned}
\sum_{k=0}^{p-2a} \frac{(2a-2p)_{p+k} (2a)_{p+k}^{2r}}{(1)_{p+k}^{2r+1}} &= \frac{(2a-2p)_p (2a)_p^{2r}}{(1)_p^{2r+1}} \sum_{k=0}^{p-2a} \frac{(2a-p)_k (2a+p)_k^{2r}}{(1+p)_k^{2r+1}} \\
&\equiv - \sum_{k=0}^{p-2a} \frac{(2a-p)_k (2a+p)_k^{2r}}{(1+p)_k^{2r+1}} \pmod{p^2}, \tag{2.10}
\end{aligned}$$

since p divides the last sum by (2.4).

While in view of (2.7), for any $t \in \mathbb{Z}_p$, we have

$$\begin{aligned}
(2a-tp)_k - (2a)_k &\equiv tp \cdot \left. \frac{d((2a-x)_k)}{dx} \right|_{x=0} \\
&\equiv tp \cdot (2a)_k (H_{2a-1} - H_{2a+k-1}) \pmod{p^2}.
\end{aligned}$$

It follows that

$$\begin{aligned}
&\sum_{k=0}^{p-2a} \frac{(2a-p)_k (2a+p)_k^{2r}}{(1+p)_k^{2r+1}} - \sum_{k=0}^{p-2a} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \\
&\equiv p \sum_{k=0}^{p-2k} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot ((1-2r) \cdot (H_{2a-1} - H_{2a+k-1}) - (2r+1)H_k) \\
&\equiv p \sum_{k=0}^{p-2k} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot ((2r-1)H_{2a+k-1} - (2r+1)H_k) \pmod{p^2}, \tag{2.11}
\end{aligned}$$

where (2.4) is applied again in the last step.

Finally, combining (2.11) with (2.9) and (2.10), and applying Lemma 2.3, we obtain that

$$\begin{aligned}
\phi'(0) &\equiv \frac{\phi(2p) - \phi(0)}{2p} \\
&\equiv \frac{1}{2} \sum_{k=0}^{p-2k} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot ((2r-1)H_{2a+k-1} - (2r+1)H_k) \\
&\equiv 2r \sum_{k=0}^{p-2k} \frac{(2a)_k^{2r+1}}{(1)_k^{2r+1}} \cdot H_{2a+k-1} \pmod{p}.
\end{aligned} \tag{2.12}$$

Recall that $2r+1$ has been assumed to be co-prime to p . Hence by (2.8) and (2.12), we must have

$$\phi'(0) \equiv 0 \pmod{p}.$$

All are done. \square

Remark 2.1. In view of (2.5), we always have $\psi'(0) \equiv 0 \pmod{p}$ whenever p divides $2r+1$. So if $\alpha \in \mathbb{Z}_p$ and $\alpha \equiv 2a \pmod{p}$ for some $1 \leq a \leq (p-1)/2$, then

$${}_n p F_{np-1} \left[\begin{matrix} \alpha & \alpha & \dots & \alpha \\ 1 & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1} \equiv 0 \pmod{p^2} \tag{2.13}$$

for any odd $n \geq 1$.

Remark 2.2. Suppose that $r \geq 1$ is not divisible by $(p-1)/2$. Let $r_* \geq 1$ be the least positive residue of r modulo $(p-1)/2$. Then by the Fermat little theorem,

$$\frac{d}{dx} \left(\sum_{k=0}^{p-1} \frac{(2a-x)_k (2a)_k^{2r}}{(1)_k^{2r+1}} \right) \bigg|_{x=0} \equiv \frac{d}{dx} \left(\sum_{k=0}^{p-1} \frac{(2a-x)_k (2a)_k^{2r_*}}{(1)_k^{2r_*+1}} \right) \bigg|_{x=0} \pmod{p}.$$

It follows that for any p -adic integer α with $\alpha \equiv 2a \pmod{p}$ for some $1 \leq a < (p+r_*)/(2r_*+1)$,

$${}_{2r+1} F_{2r} \left[\begin{matrix} \alpha & \alpha & \dots & \alpha \\ 1 & 1 & \dots & 1 \end{matrix} \middle| 1 \right]_{p-1} \equiv 0 \pmod{p^2} \tag{2.14}$$

Acknowledgments. The authors are grateful to Professor Zhi-Wei Sun for his very helpful comments on this paper.

REFERENCES

- [1] S. Ahlgren and K. Ono, *A Gaussian hypergeometric series evaluation and Apéry number congruences*, J. Reine Angew. Math. 518 (2000), 187212.
- [2] A. Deines, J. G. Fuselier, L. Long, H. Swisher and F.-T. Tu, *Hypergeometric series, truncated hypergeometric series, and Gaussian hypergeometric functions*, Directions in number theory, 125–159, Assoc. Women Math. Ser., 3, Springer, 2016.
- [3] B. He, *Supercongruences and truncated hypergeometric series*, Proc. Amer. Math. Soc. 145 (2017), 501-508.
- [4] P. W. Karlsson, *Hypergeometric functions with integral parameter differences*, J. Math. Phys. **12** (1971), 270-271.
- [5] J.-C. Liu, *Congruences for truncated hypergeometric series ${}_2F_1$* , Bull. Aust. Math. Soc. **96** (2017), 14-23.
- [6] L. Long and R. Ramakrishna, *Some supercongruences occurring in truncated hypergeometric series*, Adv. Math. 290 (2016), 773-808.
- [7] G.-S. Mao and H. Pan, *p -adic analogues of hypergeometric identities*, preprint, arXiv:1703.01215.
- [8] E. Mortenson, *Supercongruences between truncated ${}_2F_1$ hypergeometric functions and their Gaussian analogs*, Trans. Amer. Math. Soc. 355 (2003), 987-1007.
- [9] E. Mortenson, *Supercongruences for truncated ${}_{n+1}F_n$ hypergeometric series with applications to certain weight three newforms*, Proc. Amer. Math. Soc. 133 (2005), 321-330.
- [10] R. Osburn and C. Schneider, *Gaussian hypergeometric series and supercongruences*, Math. Comp. **78** (2009), 275-292.
- [11] R. Osburn, A. Straub and W. Zudilin, *A modular supercongruence for ${}_6F_5$: an Apéry-like story*, preprint, arXiv:1701.04098 .
- [12] Z.-H. Sun, *Congruences concerning Legendre polynomials II*, J. Number Theory **133** (2013), 1950-1976.
- [13] Z.-W. Sun, *On congruences related to central binomial coefficients*, J. Number Theory **131** (2011), 2219-2238.
- [14] Z.-W. Sun, *On sums of Apéry polynomials and related congruences*, J. Number Theory **132** (2012), 2673-2690.
- [15] Z.-W. Sun, *Supercongruences involving products of two binomial coefficients*, Finite Fields Appl. **22** (2013), 24-44.
- [16] R. Tauraso, *Supercongruences for a truncated hypergeometric series*, Integers **12** (2012), Paper No. A45, 12 pp.

DEPARTMENT OF MATHEMATICS, NANJING UNIVERSITY, NANJING 210093,
PEOPLE'S REPUBLIC OF CHINA

E-mail address: mg1421007@smail.nju.edu.cn

DEPARTMENT OF MATHEMATICS, NANJING UNIVERSITY, NANJING 210093,
PEOPLE'S REPUBLIC OF CHINA

E-mail address: haopan79@zoho.com